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(a:0)
m e mumn A | Gx |BEARE| BREE a4 | eou | mmE | gUE | vqrE— | I507— | mam | zEUvvE| uka—n | R2MD | as
AR |4 i E 45 0.3 7.0 1.5 0.8 25.2 35 0.1 1.8 0.1 7.0 3.9 25.6 41 85.4

= #* 58 0.5 6.5 3.1 0.5 21.7 2.6 0.1 1.9 0.1 8.5 6.1 28.9 48 91.1

= F 6.3 0.3 5.0 3.5 0.6 23.8 2.8 0.1 1.6 0.0 6.6 6.2 26.3 4.7 87.7

B b3 5.7 0.3 3.5 3.9 1.0 223 3.2 0.1 23 0.0 6.0 5.7 23.2 3.8 81.2

w & |# H 8.6 0.6 6.6 2.7 0.6 22.8 2.3 0.1 1.9 0.0 7.0 6.0 28.5 5.2 92.8

2 15 0.5 59 2.6 0.9 21.6 2.8 0.1 1.7 0.0 5.0 48 22.5 34 79.1

= B 7.2 0.3 3.1 4.6 0.8 219 23 0.0 1.8 0.1 59 48 21.8 3.8 78.4

H 6.7 0.4 47 3.6 0.7 223 2.7 0.1 1.9 0.0 6.4 5.6 247 42 84.0

x b4 48 0.3 3.2 34 0.6 18.0 20 0.1 15 0.0 46 41 21.0 3.8 67.3

i X 5.1 0.2 41 3.0 0.6 191 25 0.1 1.6 0.0 4.4 4.4 20.2 3.9 69.2

pi: 5 47 0.2 55 23 0.7 183 2.3 0.1 1.6 0.0 47 3.8 20.2 40 68.6

BE R E |15 x 3.9 0.2 46 24 0.6 149 3.1 0.0 14 0.0 41 438 20.4 4.7 65.1

# p=l 10.5 0.5 438 2.6 0.9 243 25 0.1 1.6 0.0 6.8 55 258 41 90.0

=3 32 6.9 0.2 3.7 3.6 0.9 233 3.6 0.1 1.8 0.0 4.6 3.8 20.7 3.3 76.5

H 54 0.2 4.4 2.7 0.7 183 2.8 0.1 15 0.0 4.7 45 21.1 42 70.6

+ E 3.9 0.2 35 29 1.0 16.4 29 0.1 1.6 0.1 4.4 51 21.4 42 67.8

R’ = 55 0.3 5.1 34 1.6 39.8 8.1 0.2 29 0.1 54 6.7 246 3.9 107.8

B = |#mFEN 35 0.2 40 2.8 0.7 19.9 3.6 0.1 1.8 0.1 46 52 20.4 40 70.7

L £ 46 0.3 3.8 3.9 0.8 19.8 75 0.2 25 0.1 4.6 4.0 18.0 42 743

H 46 0.3 4.4 3.1 1.2 28.4 5.6 0.2 2.3 0.1 49 59 22.5 40 87.4

= 1] 714 0.2 3.1 3.3 0.8 245 24 0.1 15 0.0 1.6 7.2 22.3 42 84.6

2 R =) Jn 6.9 0.2 25 3.4 1.0 23.7 25 0.1 1.3 0.1 6.0 54 215 43 79.0

= Eid 6.3 0.3 1.9 3.3 1.0 21.2 1.7 0.1 1.0 0.0 6.6 5.0 19.6 5.1 731

H 6.9 0.2 2.6 34 0.9 233 22 0.1 1.3 0.0 6.7 59 21.3 45 79.4

153 B 49 0.2 2.0 3.2 0.9 155 21 0.1 1.1 0.1 4.6 4.7 17.0 45 60.9

# & 43 0.3 3.3 3.8 1.0 19.0 2.4 0.1 14 0.1 4.8 4.1 18.5 3.9 66.9

%2 BB |2 %0 3.4 0.2 2.2 3.2 1.3 214 25 0.1 1.2 0.1 55 52 19.6 3.9 69.6

= 5 4.1 0.3 3.1 3.5 0.9 17.7 1.7 0.1 1.0 0.0 4.9 4.8 20.2 3.8 66.2

H 3.9 0.3 2.6 34 11 19.6 2.3 0.1 1.2 0.1 52 4.8 19.0 3.9 67.4

i = 45 0.2 1.7 3.2 11 13.8 1.7 0.1 0.9 0.0 4.1 52 18.2 3.2 58.0

= #B 5.2 0.2 1.7 3.5 1.1 26.5 4.0 0.2 1.6 0.1 6.3 58 224 4.1 82.8

X B 42 0.2 2.0 4.1 1.0 29.3 3.5 0.1 2.0 0.1 7.3 6.3 26.6 5.6 924

X R |E & 44 0.2 1.9 3.8 0.9 20.6 2.8 0.1 1.3 0.0 6.4 52 22.7 4.6 75.1

E B 49 0.2 1.6 34 0.7 16.6 1.9 0.0 1.0 0.0 52 4.8 18.8 5.0 64.3

E | 5.1 0.2 2.3 4.1 1.0 18.6 3.6 0.1 1.0 0.1 7.0 59 20.8 6.7 76.3

H 45 0.2 1.9 3.9 1.0 243 3.2 0.1 1.6 0.1 6.6 58 23.7 5.0 81.7

B HY 59 0.9 2.7 4.7 1.2 21.6 1.8 0.1 1.3 0.1 7.4 58 24.4 6.0 83.9

B i) 6.3 04 2.8 5.6 1.0 20.1 1.9 04 1.1 0.0 6.1 4.8 20.5 6.1 77.2

B & 11} 44 0.2 21 4.6 0.8 16.0 1.8 0.1 1.1 0.1 55 51 18.7 49 65.5

I B 4.7 0.2 2.3 5.9 0.9 21.7 2.6 0.1 13 0.1 79 52 22.6 54 80.8

1] [m] 4.6 0.3 2.5 54 0.8 19.0 1.6 0.1 1.0 0.1 7.6 4.4 20.7 53 73.3

H 4.9 0.3 2.4 54 0.9 19.6 21 0.1 1.1 0.1 7.0 51 21.2 54 75.3

& 5 4.4 0.2 2.0 5.0 0.9 19.6 2.6 0.1 1.3 0.1 7.6 4.8 18.8 5.6 72.9

& i 42 0.3 21 42 2.2 191 2.0 0.1 1.2 0.1 59 54 20.1 42 70.8

B BB 3 44 0.3 2.7 45 1.4 20.5 1.7 0.1 1.0 0.1 6.8 52 20.5 55 74.5

=) %0 53 0.3 3.0 4.5 0.9 25.7 1.8 0.1 1.2 0.1 15.0 6.5 232 6.9 94.2

H 45 0.3 2.4 4.5 14 20.9 2.0 0.1 1.1 0.1 8.3 54 20.6 55 77.0

= [F) 4.0 0.3 1.8 7.2 0.8 21.8 2.8 0.1 1.7 0.1 7.5 4.8 20.9 44 78.1

5 m 3 = 55 04 15 6.2 0.8 19.8 1.6 0.0 1.1 0.1 8.2 4.0 20.1 50 74.3

=3 5 41 04 2.3 7.0 0.6 20.0 1.8 0.1 1.0 0.1 7.8 3.9 19.9 55 74.6

B 42 0.3 1.9 7.0 0.8 21.3 2.5 0.1 15 0.1 7.6 45 20.6 4.6 77.0

3 ZN 2.7 0.3 1.9 8.7 0.8 18.8 21 0.1 13 0.1 8.1 4.0 21.1 6.8 76.8

x e 4.0 04 2.4 8.8 0.7 204 2.6 0.1 15 0.1 7.6 45 20.1 5.1 78.2

B OXx B 5 2.4 0.2 1.3 18.5 0.6 22.6 2.5 0.1 1.3 0.1 9.6 4.3 22.9 8.8 95.2

ER & 1.1 0.2 1.1 21.8 0.7 15.6 1.8 0.0 1.1 0.0 8.6 4.0 20.1 7.3 83.3

i 24 0.3 1.6 14.4 0.7 18.9 2.2 0.1 1.3 0.1 8.4 4.2 21.0 7.0 825

£ E F 4.7 0.3 3.4 4.1 0.9 229 3.4 0.1 1.7 0.1 6.0 52 220 45 79.3
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